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CE-702 (D) (GS)
B.Tech., VII Semester
Examination, November 2023

Grading System (GS)

Structural Design and Drawing (RCC-II)
Time » Three Hours
Maximum Marks ; 70

Note: i) A.t‘tcmpt any five questions.

fap=eY uia w1 B g HI

ii) All questions carry equal marks.
T+ weAl & T 3 €

iii) Use of [S:456; 15:3370; 1S:4995; IS:1343; IS:875; IRC
6 is allowed.
1S:456; 1S:3370; 15:4995; 1S:1343; 1S:875; IRC 6 &
SUART Y AR 2

iv) Abbreviation has usual meaning.
Tfaretenvor o1 ATy 37ef BT 21

v) In case of any doubt or dispute the English version
question should be treated as final.
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1. Whatdo you understand by sway and non sway buildings? Explain
clearly. 14
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2. Whatdo youunderstand by Retaining walls? Why it is provided?

Also explain cantilever retaining wall. 14
ReFim Siest & g = wweny &2 ag it war R stk 22
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'Design a stem of a cantilever retaining wall, retaining levelled

earth 5.4m above base level. Take the density of soil is
16kN/m?®, angle of repose is 30°, base width 4m, toe projection
1.0m and thickness of base slab 0.4m. 14
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Design and detail the wall of a circular water tank of 200 kL
capacity having rigid wall and basc connections. Maximum depth
of water is limited to 3.2m. 14
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. Design top dome, top ring beam and cylindrical wall of an intze

tank of capacity 1000 kL litres. Use M30 grade of concrete
and steel of grade Fe 415. 14
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Design the side wall of silo to store coal. Diameter of silo is

6m, height of cylindrical wall is 16 m, unit weight of coal

8.5kN/m3, = 0.22 and coefficient of friction is 0.4. Sketch
the details. 14
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7. What do you understand by Pre-stressing? Also discuss its
advantages and disadvantages. 14
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8. Designa solid slab bridge for class AA loading for the following
: 14

data:
Clear span = 8.0m

Clear width of road ways =7.5m

Average thickness of wearing coat = 80mm
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